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PART - I / 9T - |
GENERAL AWARENESS / UIFTY

1. Students’ Teachers’”  Holistic
Advancement through Quality Education

(SARTH AQ) is an

and

(1) Indicative and suggestive NEP
implementation plan for Legal
Education

(2) Indicative and suggestive NEP
implementation plan for Higher

Education

(3) Indicative and suggestive NEP
implementation plan for School
Education

(4) Indicative and suggestive NEP

implementation plan for Technical
Education

2.  Johann Gutenberg developed the first-known
printing press in Germany. Which was the
first book he published in that press ?

(1) The Magna Carta
(2) The Republic
(3) The Bible

(4) The Odyssey
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Which of the following statement(s) is/are
correct about ‘India State of the Forest
Report’ (ISFR) ?

(A) The first State, of the Forest Report was
published in 1937.

(B) The report 15 k ised on the biennial
assessment of:;'I'ﬁ:ﬂ'ia's forests carried out
by Forest Survev_of India (FSI).

(C) Based on the I_SER 2021 report the total
forest cover of_t?g country is 21.71% of
the total geg_yéféphical area of the

country.

(D) The ISFR 2021 report shows a decrease
of forest cover as compared to the g

previous assessment. |

Choose the correct answer using the codes

below : s s

(1) Only (B), (C) an__;}__‘(D) are correct
(2) Only (C) and (I__)jare correct
(3) Only (B) and (_C—)__are correct

(4) Only (A), (B) and (C) are correct i

Assertion (A) : _____
Both India and the USA have bicameral

legislature.
Reason (R) : J
The upper house of the legislature in both the |
countries has an equal number of seals
reserved for different states.

Choose the correct a_é}swer from the codes
below : S

(1) (A) is wrong bu[(R) is correct

(2) Both (A) and E(:__I._'i)'_'.:are correct

(3) Neither (A) nor(R) is correct

(4) (A) is correct but (R) is wrong
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Assertion (A) : ! VR 4 fad
- : : % wH
As part of the major reforms to Union I e zozﬁﬁgﬁﬁfﬂm ¥ T 9K

Budget, the date of budget was advanced to I
1 February for the first time from the Budget l
for Financial year 2020.

Reason (R) :

The advancement of Budget date has been

done to enable early completion of the Budget
cycle.

Choose the correct answer from the codes i
below :

(1) (A) is wrong but (R) is correct

(2) Both (A) and (R) are correct and (R)
explains (A)

(3) Neither (A) nor (R) is correct

(4) (A) is correct but (R) is wrong

Which team won the 2023 Women T20 World
Cup ?

(1) India
(2) Australia
(3) England

(4) South Africa

Who was awarded the Sahitya Akademi
Bhasha Samman 2022 ? |

(1) Krishna Bhattacharya

(2) Chungkhan Yashawanta Singh

(3) Shashi Nath

(4) Uday Nath Jha
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10.

"Milpa’, ‘Roca’, ‘Ladang’ are different names
of which of the following ?

(1)  Shifting cultivation
(2) Open-cast mining

(3) Earthquake waves

(4) Rain water harvesting

What do we call the process through which

bacterial and fungal enzymes degrade

detritus into simpler inorganic substances ?

(1) Leaching
(2) Catabolism
(3) Humification

(4) Fragmentation

According to the National Education Policy
2020, by which year the Gross Enrolment
Ratio in higher Education including

vocational education is to be increased to

50% ?
(1) 2030
(2) 2040
(@) 2035
(4)

10.
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PART - Il / {7 -

1 A R?ASONING ABILITY T &
ans ‘M’ is the wife of ‘Q’; 1. Mg madEEM, QY F IR

"M =Q" means ‘M’ is the father of ‘Q’; M- T Ab 2R M, Q foran 2;

‘M X Q" means ‘M’ is the daughter of ‘Q’; MxQ F a4 &M, w1 Th ¥

‘M +Q’" means ‘M’ is the son Q‘. Mo T ad M, QR ekl

If A+Bx]+U-D, how is ‘B lated to ‘D’ ? afz A+Bx]+U-D &M B H ‘D E

Hqau &7

(1) Brother ay M

(2) Sister N T

(3) Aunt 3) = v

(4) Mother (4) —D

A
12. Three statements are given, followed by three | 12. 3 o Fo feg T E fae a1 9 ﬁm LI

conclusions numbered I, Il and III. Assuming s 1 few e E sgaT f2u T A Iiaa W‘T
the statements to be true, even if they seem AT & 98 9 HAE A aAi g PE A AT

to be at variance with commonly known g Fofa it f6 9T T frerdl § F ﬁq
facts, decide which of the conclusions /@ YAl G qiES 9 f frmad §/87
logically follow(s) from the statements.

Statements : ELE R

1.  All pinks are scarlets. - 1w T, @ @ (Sife) B

2. Some scarlets are blu g8 %\T 2. FHAC@T, T T

3.  No blue is brown. FNG | 3. W i e T T

Conclusions : } freand

[ Some browns are blues. [ FORAALIA

. No pink is brown. 1L & S eI {4

[Il. Some scarlets are pinks. N, %9 e (cifea) e €1 v

(1) Only conclusions 11 and 111 follow. ) e e I 3 111 freherd €

(2) Only conclusion I follows. (2) A e 1 freferen €
(3) Only conclusion 11 follows. (3) o forepd 111 Forehran €1
(4) Only conclusions 1 and 11 follow. 4) el Frend 1 3T 1L fasherd B 1

Q2
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afg ‘3av, ‘et @ S g ‘afrm’
West become ? 1 1 ST ?

13.  If North becomes South-West, then what will | 13.

(1) North-East oY N (1) I

Xt @) Sw-ufEm
14 & -
& T

(2) North- West
(3) South- East

(4) East

3 &7 e fau MU § fas A 9w e
1,11, 111 3R IV feg e 2 2aFT FAA B FBl
W%aﬁémmﬁwaﬁqum
aﬁtmﬁﬁaﬂﬁqﬁﬁqwﬁﬁsﬁnnw
m/ﬁmﬁfﬁaﬁamﬁﬁm*/ﬂ
ey

14. Three statements‘_"é‘rg_; given, followed by four 14.
conclusions numbered I, 11, 11T and IV.
Assuming the statements to be true, even if
they seem to be at variance with commonly
known facts, decide which of the conclusions
logically follow(s) from the statements ?

Statements : & HYA :

1. All boats aré_ ﬁi;hes.
2 Some fxshes_are rivers.

3.  Some rivers are sailors.

Conclusions : ~.

I. Some sailors are fishes. \/I/ . V: -
N ¥ E A §1

. FoAr@im g~

V. %o Asted TE €|

(1) ee e 11 3iR 111 Freperd €

(2) e frerd v feper €
\)m/ e s 1, 11 3 v Fremer )

(4) dam Fremd 1 11 freer &)

II. Some boats are sailors.

II. Some rivers are boats.

1V. Some fishes_'g_!rg boats.

(1) Only concl‘;];igns 11 and 111 follow.
(2) Only conclusmn IV follows.

(3) Only concluslons I, II and IV follow.

(4) Only concltm:ons I and II follow.
w
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16.

Two st
stat y
ements labelled as Assertion (A) and

Reaso
n ot
(R) are given. Consider both the

statements catefully
Asserti .
on (A);:. Indi
)?‘_H’ India has the potential to
FTmake  its
¢ . industry a very flourishing

{ ¢ sector.

R .
cason (R) : -—-_.f--_-jh'ldla is a home to a very
%_iriilal'ge number of craft forms
{__including textiles.

Select correct answer with the help of code.

Both (A) and (R) are true but (R) is not
the correct explanation of (A).

(1)

(2)
(3)
4)

(A) is false but (R) is true.
(A) is true.but (R) is false.

Both (A) a.nd (R) are true and (R) is the
correct explanation of (A).

Eight friends J; K; L, M, P, Q R and S are
sitting around a‘square table in such a way
that all are facﬂi};i--towards the centre of the
table. ‘L’ sits in the middle of the side. ‘T is
second to the left of ‘M’. “Q’ is exact right of

‘K’ and is sitting in the middle of the side. P’
/L. ‘M sits exact right of °J".

doesn’t sit with
Two friends are sitting in between ‘M’ and

/g ‘R’ is second to the left of 7"
K Jsthlrd to the left of L.
- o s
5 a

‘S’ is exact

leftof ‘L. °

Who sits fourti__*_r-tof the right 0

1 P
2 R
3 S
4 J

El%@i
PGT—HIN-2023 O]
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(3) (A)¥E & T (R) T ¢
R (A) ST(R) I FEE SR (R), (4) it
e AR

16. a:rafan,K,L,M,P,Q,Rai‘rtsqa:aTm

ﬁa#aﬁaﬂ?wmﬁ%%%wmﬁa
A g R L e R e
51 P, M A SRR R WA EQ,
*K’éﬁmaﬁfsﬁt%aﬁr{gﬂ%aﬁﬁﬁ%m
g %1 P, L F wE T R M T &
e g SR e ¥ 1 M S A T
$3% R, 7 % ol 3R R A WA LN'S,
'L ¥ e TRl SR AAE K, ‘L’ % = 3
e T W ST 8

" %Eﬁﬁf{?ﬁﬁ@ﬁﬂaﬁ?ﬁ?ﬂ%?
(1 P

@ R

@ S

4 J L
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A statement is given followed by four
conclusions numbered 1, 11, 11T and 1V.
Assuming the statement to be true, decide
which of the conclusions is/are definitely
true.

Statement: C = R>D<E=K>P

Conclusions :

1. C>D
II. K=D
M. P<E
IV. E=2R

(1) Only conclusions I and IIT are true.
(2) Only conclusions II and IV are true.
(3) Only conclusion IV is true.

Only conclusions I and II are true.

(4)

A patient has been given a medicine schedule.
There are eight medicine capsules. 5, T,U,V,
W, X, Y and Z. Which have to be taken each
day based on the following conditions :

(i) Capsule ‘S" must be taken sometimes
before ‘T" and ‘W’,

“T" must be taken immediately before
rvr’

Fourth capsule must be “U’,

(1)

(i)
(iv)

Y’ must be taken immediately before
IXI’

(v) ‘Z mustbe taken immediately after W',
(vi) ‘Y’ is the first capsule to be taken.
Which of the following statements is false ?
(1) ‘U’ must be taken between ‘S’ and ‘T".
(2) The sixth capsule must be ‘V'.

(3) ‘T is taken immediately after ‘S".

(4) ‘X is taken before ‘S'.

A
Mo
BRAE
S
e
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foreamt : &
L. C>D 7/
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) Feel Trend 11 3l [V & €
@) e fred [V 9 €
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frefefad Sl % SNuR W yaiF e foe s
€
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femsmy, v vV T, WES
(i) TV R AT Ted T e
(i) a\mmfu'amam/
Gv) Y WX TR TEe ferd S e

o

(v) ‘2 W TR W] fern S '
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forfarfad # & S 1w e €2
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19.  Given below is a question, followed by two

statements [ and 11, each containing some
information. Decide which of the statements

- ﬁwwmm%MWawwﬂz
Hﬁ-;qﬂqﬁl ﬁﬁ'ﬁmﬁﬁaﬁaﬂﬁﬁﬁ%l ']

l

g fofa Ffere R 0 T/R HI I H IW

is/are sufficient to answer the question. 7 % fag LRI %/%?
How is Kushal related to Meenakshi ? o 1 Hrmef @ A 2
Statements : &g

L. Kushal is only son of Meenakshi’s

brother-in-law.

II.  Garvita is Kushal’s only sister.

o, e % W8/ 39 T A €

[, fe, Y H TR TR

(1) The statement II alone is sufficient to (1) = Tl WA 1 IR ¢4 F forg vatw
answer the question while the £ wafed FUF [ 3Fha T H IH HAAF '.
statement I alone is not sufficient. feu wafa & g1 |
|
(2) Both statements I and II together are (2) YA | R FHYA 1 Sl Ferent T &1 3 ll
necessary to answer the question. 2% % forg s € '

(3) Both the statements I and 11 together are (3) w1 afit v 11 g Toeet ot 999 &

not sufficient to answer the question.

(4) The statement I alone is sufficient to
answer the question while the
statement II alone is not sufficient.

T =
5Eq!:1'1f 15 18 Al ==
3 '

20. Select the letter cluster that will replace the

question mark (?) in the following series _
3 A e
Ty KEL e RFar alas
\

w

T 23 F fon vata i €

oM | TS WY 1 S 54 & forg T
3 Safe w11 379 ¥ H S &
fore waia & €

20. frefafEs gaan § v g (0) F 9F W 3
T JER THE 1 941 HL |

g3 278 BVU, ZXQ, XZM, VBI, TDE, __2 BVU, ZXQ, XZM, VB, TDE, __?
S\os 5:’ .L%&_I 2){ L
O 9
RFA z £y AT REA "
. Lo | |
( o ) FAR 9 —7 Vil (2) FAR 1
b |
(3) FRA s 27 ] (3) FRA |
A M 22
(4) RAF “ "V (4) RAF
\

%@f 3\/’ @ 10
PGT-HIN-2023 &
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21. Refer to the following letter sequence and
answer the question :
(Left)y SBTMRESICZYOWAPDFH
G U L (Right)
Which letter is fifth to the right of the twelfth
letter from your right end of the given
sequence ?
1 X
2 P
@3 w
4 R

22. Lakshmi starts from point ‘A’ and travels

2 ki Southwards to a point ‘Z” and then turns
right and travels twice that distance to reach
Y. She then turns left and travels five times
the distance she covered between point ‘A
and ‘Z" and reaches point ‘X’. From there
Joft and travels 4 km to reach
‘B’. What is the shortest distance
and what is

she turns
destination
between the points “A” and ‘B’
B’s direction with respect to ‘A7

(1) 12 km, South

8 km, North

(2)

11

21.

22
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23. Seven children K, L, P, R, T, X and Y are

sitting on a straight bench facing towards
North. "X’ is sitting immediately left of ‘Y’
‘T" is the immediate neighbour of ‘R" and ‘P’
Neither ‘X’ nor ‘Y’ are the immediate
neighbours of ‘L’. ‘P’ is sitting second to the
left of ‘L".

Who is sitting at the second position from the
right end ?

1) Ty

wr{'rf]’\ﬁ-
frosee et

\
L

~ 9 R

24. Given below is a question, followed by two

statements I and II, each containing some
information. Decide which of the statements

is/are sufficient to answer the question.

Who is to the immediate right of ‘] among

five friends ], K, L, M and N, facing the

North ?

L. ‘L’ is third to the left of 'K’ and ‘] is
second to the right of ‘L".

II. ‘K isto the immediate left of ‘N” who is
second to the right of ’J".

(1) The statement II alone is sufficient to
answer the question while the
statement | alone is not sufficient.

(2) Both statements I and Il together are
necessary to answer the question.

(3) Either statement I alone or statement II
alone is sufficient to answer the
question.

(4) The statement I alone is sufficient to

answer the question while the
statement II alone is nol sufficient.

EZ)E
PGT-HIN-2023 %
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A e K, L, P, R, T, X 3R Y Th el 99w
T F s He wh 43 €1 X, Y F Tew
arff 3 Fa1 21 T, ‘R EP H Pz
g 31 xRy L % U P wde
T ¥ 1P, L F Ard AR gE TE AN R

-~

2 S § T T T HE 981 %2

o T " 41?
v,zj/K’f Y B T i P
@ PI—— ~_p

(4) R R 4

9 e weA fea T ® o 9 A w1 @in

11 e ¥ fo T vos | $2 SeER T 8

7z g wifee fe =@ /9 599 999 1 S0

2 & fon vata &/ ?

of= s §, K, L, M 3iR N, <1 3 &1 3R e

FH 43 8, § 9 '] F THeH qEi AR HE 931

e

I U,K % ardl AR e ™A WE 3R T,

‘L F T SR g ™ W )

‘K, ‘N’ & Tehed 9191 3R € <1 ‘7 & @

3R T TH W

MWII,WWWH@%WW
T Safe FUF-1 Aol U9 H IW A B

IL

fome waie e R

(2) FHA-1 AR FH-11 SFI, e 9@ =
TN | & fae stravas ¥

(3) AW T FUA-1 HA AU HYA-11 IRFA
W ol I A & fore waiw &

(4) Y1 THA U 1 I A & forg w@a

? Safh FUA-1] 3 T F IW A F
foru wate =& )
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Two statements labelled as Assertion (A) and
Reason (R) are given. Consider both the
statements carefully.

Assertion (A) : Fake news sprcad in world

has become a scrious

problem.

Reason (R) : The internet is source of all

fake news.

Select correct answer with the help of code.

(1) Both (A) and (R) are true but (R) is not
the correct explanation of (A).

(2) (A) is false but (R) is true.

(3) (A) is true but (R) is false.

(4) Both (A) and (R) are true and (R) is the

correct explanation of (A).

Which of the following Venn diagram
represents the best relationship between

Teachers, Sisters, Females ?

25,

26.
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27.  Three statements are given followed by two
conclusions 1 and 1. Assuming the
statements to be true decide which of the
conclusions is/are definitely true.
Statements :

1. M>Q
2. P=M
3. N=M
Conclusions : Wy
fi
. Q=N '
I, Q<P
(1) Only conclusion II is true.
(2) Both conclusions I and II are true.
(3) Neither conclusion I nor II is true.
(4) Only conclusion I is true,

28. Study the given diagram carefully and

answer the question. The numbers in
different sections indicate the number of

persons.

Salaried

Married

Under 35 Years

How many ‘Under 35 years’ people are
‘Salaried’ but not ‘Married” ?

(1y 8
@ 12
@) 13 .
4) 5
E! 'A

PGT-HIN-2023 2%

GET IT ON
Google Play

27. ?ﬁﬂa;mfmﬂﬂ{ﬁﬁ%aﬁ'q‘lﬁﬁdlsﬂzn
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'%/%7 ‘ i.

L HEe A N> Q.
2. Pz=zM o s My @
3, N=M s

iy NS

. Q=N2ZX
AL _Q<p
AT et P 11 e

) frsd 1 iR S T E
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(4) e Fred 150 21
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28.
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29. sudha is the wife of Anand. Kavita is the
mother of Gaurav. Anu is the daughter of
Ravi, who is the brother of Aryan. Anu’s
mother Kavita is the daughter-in-law of
Anand. How is Sudha related to Aryan ?

(1) Mother
(2) Paternal grandmother
(3) Maternal grandmother

(4) Sister

30. There is a family of six members D, K, L, M,
N and P.
Businessman, Executive, NGO worker and

They are Lecturer, Artist,

Singer but not necessarily in the same order.
There are two married couples. ‘N’, a
Lecturer, is married to the Artist who is the l
mother of ‘L’ and ‘P’. ‘P’ is pursuing singing.
‘D’ has one son and one grandson who is an
Executive. ‘K’, the Businessman, is married
to ‘D’. Of the two married ladies, one is a
NGO worker.

Which of the following statements is true ?
(1) ‘M’ is the Executive.
(2) ‘M’ is the Artist.

(3) ‘L' isson of ‘D’ and ‘K.

(4) ‘K isthe wife of ‘D".

15

GET IT ON
Google Play

29. [, 3FE F T Hfaar, 7ia S T R

o7, o R T & N S A o ¥ a7 A
e, o Y gAY ¥ G F AT § P
ey §? ’ -
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PART - Il / 17 - 11
KNOWLEDGE OF ICT / ICT I 71

Which of the foIlmving does not come under
cyber-crime under IT Act 2000 ?

(1)  Distributing child pornography over
internet
(2) Misusing personal information over
internet
(3)

Using fake email messages to get
personal information

(4)

Stea]ing monitor from a store

McAfee Plus is an example of :

(1) Application software
(2) Open source software
(3) Programming Language
(4) Anti-virus

Out of the following options, the most popular
combination of shortcut keys to Copy Some
selected text in most of the MS windows
applications is :

(1) Cul+0
(2) Ctl+P
(3) Ctl+X
4 cul+C

e

a,

16
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frefafaa § 9 S T 36 2 THR-2000 F g
O e Sl €7

g'gzﬁ'g T HTd  ATAl _HTF@

(1)

(pornography) ferafza =
(2) FeTre R Sfdeh ISR 6 TR F3q
(3) Afaas SFeER 9T FA F fau T

-9 (fake email) FE &1 TEM F
fordit R 4 AT T

THB T (McAfee Plus) feas:1 w% sermom
8?2

(1) T T ¥19 397 (Application
software)
(2 T 9" "iwdE (Open source
software)
(3)  HinfH e (Programming Language)
M) T Emw (Anti-virus)
YR T T e (s windows) TATRIA
ﬁ%ﬁﬁméwaﬁ‘m'm%m
frefefen fased & @ ggifys SIEILE]
Y- FY' W B
(1) Cul+0
(2 Ctl+p
(B) Cul+Xx
W Cul+cC
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35.

36.

37.

e

-

- 1 f .
which of the follo,\g_r_}lljg software you
preferled most to dedign an animated
multimedia presentation©on the topic “Benefits

of Renewable Energies~?"

(1) Microsoft Word
(2) Microsoft Excel
3) Microsoft Powerl;*’oiﬁt
(4) Microsoft Edge

Which of the following cloud storage service
owned by Microsoft 2 -~

(1) One Drive
(2) Floppy Drive
(3) Google Drive
(4) iCloud

The power backup device, UPS, stands for :

(1) Under-controlled Power Supply

(2) Uninterruptible Power Supply

(3) Uninterruptible P(_J_x_wer System

(4) Under-control Power System

Which of the fol]owiné.ig ﬁot a source of the
virus entering your system ?

(1) Hard Disk .

(2) Pen drive

(3) Printouts

(4) Email attachment

34,

35.

36.

37.
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aty frefafaa § A 959 A gfear H gaifus
mefspar <0 ?

(1) TEHRER I€ (Microsoft Word)

(2) HIERETE THE (Microsoft Excel)

@r uURHigiw 9Eai@EnEe  (Microsoft
PowerPoint)

(4) TR TS (Microsoft Edge)

ARG ¥ wEfaa ot Fies Sie |9

frefafga § @ R @ 82
(1) One Drive
(2) Floppy Drive
_3) Google Drive
() iCloud

QR daTd S gHTE (UPS) 1 3 € -

(1) Under-controlled Power Supply
K Uninterruptible Power Supply
(3) Uninterruptible Power System
(4) Under-control Power System

ﬁm@ﬁaﬁﬁ@ﬂﬂmmmﬁmﬁ
31 1 T Ed A 8 2

(1) @< few (Hard Disk)
,(2) O gREA (Pendrive) ~
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38.

39.

40.

(4)

EE
PGT-HIN-2023 E%

Which of the following is an example of an
Operating System ?

(1) Edge
(2) Word
(3) Windows

(4) Bing l

Which type of network we create when we
connect two smartphones to transfer some

photos through Bluetooth ?
(1) WAN ;
2 PAN A
(3) LAN

4) MAN

Which of the following groups of devices are
only input devices ?

(1) Mouse, Microphone, Speaker

Keyboard, Printer, Light Pen

)

Joystick, Microphone, Scanner

(3)

Mouse, Monitor, Joystick

18
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=
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T, =T, e 49 (Keyboard
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Microphone; Scaﬁner)

(4) T=w, ﬁ:ﬁi Safes (Mouse, Monitor:
Joystick)
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PART - IV / MT7T - IV
TEACHING APTITUDE / f1gror aifigiRy

Mohan can think terms of

propositions and deal with propositions

now in

instead of objects. He deals with sum total of
possibilities rather than empirical situation.
He takes final steps towards versatility in
thought.

Mohan is at which stage of Piaget’'s model ?

(1) Sensory-motor stage
(2)
@)

(@)

Concrete operations stage
Formal operations stage

Pre-operational stage

Which one of the following is not associated

with a unit test ?

(1) Confined to limited number of
competencies

(2) Totally controlled by the teacher |

(3) Used for Remedial purpose

Standardized Achievement Tests

@)

What is not an advantage of Discovery
method ?
1)

It develops scientific and critical

attitude among students.

It provides training to prepare students
for life.

It develops self confidence and self

(2)

(3)

reliance.

This method is suitable for the students

(4)

of lower classes.

19
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Which char
Adolesconce stagoe ?

(1) Forming Broups among members of
same sex

(2) A period of intense emotions

(3) Highly critical of social evils and
injustice

(4)  Pronounced group loyalty

Which of the following is not an example of
‘Assessment of Learning’ ?

(1)  Assessment of Homework
(2)  Scholarship Examination
(3)  Anecdotal Records

(4)  Annual Examination

The ASSURE model of integration of ICT in
the learning process has the components :

(1)  Activity, state the objectives, support
and extend.

(2) Analyse the content, state the aim,
select method and materials and
evaluate.

(3) Analyse the learners, state the aim,
select the method and materials and
extend.

(4) Analyse learners, state the objectives,

select the media and materials and

evaluate.

20
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50.

e

which one of the following is not a
characteristic of teacher centred approach ?
) Unfamiliar or abstract concepts are
directly explained by the teacher.

Enough scope for discussion and debate

is available.

(3) Courses prescribed can be completed in
time.

(4) Large sized classes are handled very
well.

Effective teaching, by and large, is a function
of :
(1)
(2)

teacher’s scholarship.

teacher’s positive attitude towards
teaching.

teacher’s ability to make students learn.

(3)
(4)
What should not be a role of a teacher in the
construction of knowledge by students ?

1)

teacher’s honesty.

Supporting cooperative and
collaborative learning in the classroom
Focussing on realistic approaches to
solve real world problems
Discouraging self analysis and self
assessment

Being sensitive to the previous I
experience of each and every student

in the class

If students are not taking interest in their |
studies, the teacher should :

(1) tell them that taking interest in their
studies would lead to good result.

file a complaint with the principal and
parents and seek their indulgence.
find out causes for lack of interest and
take corrective measures.

ask them as to why are they not taking

interest in their studies.

(2)
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PART - V K (iU ﬁ?ﬂqﬁw # fetchall() ¥y
sCIENCE/ ™ = [h.hor q: e 82
COMPUTER SEF o MIEZ oo off i
51. ]

51. Which datatype is mostly returneé;}:” aﬁq&; i | (
fetchall() method in Python-My , U =1 FAT p—
connectivity ? | affa® ipup ot 80 empty list, t P

|
Select the most common answer: | ) A 55‘_35 egqﬁw el
Jist, if no m0re | ROV mpty lists R
(1) A single list or an empty U | o of tuples A€ p
rows are available.  ro I @) gﬁiﬁt; gl
ist, if 0 10 lis
A list of tuples or an emP ty I | . -tjonarie 77 an empty
re available. | list of dic gl
more rows a i ©) A W
. or an empty 1St if | A g AR X0 le, 3T
(3) Alistof dictionaries Of' 1 ’ los T a0 empty tuple,
no more rows aré avalleble if l 4) A single tup Tl '
if no ,
(4) Asingle tuples or an empty tUP le, ! C7H 3R oW
more TOWS are available ” I )/ 3R ‘
- _—
dt N ;ML i fopeT ST € 2 feU
is designed {0 ———— | 3 I
52. XML is data. Select the best pair of | < @:ﬁz@ftﬂg’w EIh-Ekl
ing options. e
answers from the following opHo } ) mﬁfg gm‘ﬂé
1) design, transport l o R’R’ﬁw
. | o
7)  store, design P,
@ | ) wREE
(3) store, transport ’ 4) qr,ﬁz fesied
(yy format, design I] ( '
. . . S i gy U G &,
53. Which type of cable has high b‘andW1dth ’ 53, f&#9 ng' A %, :
supports high data transfer rate, signals can | & S 2 o % i saH TeRTeE af
travel longer distances and electromagnetic ] caLd @ LED . % anﬁ; . 3.1?
noise cannot affect the cable, however I W.'qﬁ yuifad el el & d 78 HE
expensive. Identify the transmission media. | gl g‘rqfiﬁl:l%m ! TEEH HifC |
oot
(1) Coaxial Cable ’I (1) Cqaxial Cable
S A .
Optical Fiber | (2) Opiical Fiber
e | gy
(icted Beir Cable | 3) T@t%d Pair Cable
4) Cat6 C %
(A Cat Cable | (4) Catg.Cable
; Em
PaT.CsC-2023 B 4
: 22 *&u C
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7
gelect the correct full form of the term | 54. = fau g foeredi # ARPANET U 1 W&
" ARP ANET from the given options. ‘ T A S|
) American Research Projects Advance ‘ (1) American Research Projects Advance
Network | Network
@) American Research Programs Advance ‘ (2) American Research Programs Advance
Network “ Network
©) Advanced Research Programs ‘ (3) Advanced Research Programs
Academic Network ‘1 Academic Network
\@/ Advanced Research Projects Agency | (4) Advanced Research Projects Agency
Network | Network
\
\
55. Identify the communication protocol which | 55. =@ HHEfTRYA WErhi@ il 9E=r ity W
establishes a dedicated and direct connection ‘ wEgeien feagd & €= % lexes ok
petween two communicating devices. This | TEEE HATH T @ ¥ T TS T
protocol defines how two devices will “ arn € T A <Ei Teasd &8 T o @ =
authenticate each other and establish a direct ‘ HAAfTHe HO AR T TR A F Torw 3w
Jink between them to exchange data. ! o T SRR T Tt S
41/ PPP \‘ @ @ (Eep)
() SMTP | (2) TEWH A (SMTP)
(3) TELNET “ (3) I (TELNET)
(4) FIP \‘ (4) T AN FIP)
56. Choose the best option to fill the blank “ 56. o U = W& TR ¥ W F fo weiw
; correctly. - ‘ forehed o1 =EH it |
A ____1sa human-friendly text form ‘ TH_ I W TSH (IP address) ®
i of the IP address. \\ T-theell (Human-friendly) T F&R €l
| domain name ‘ (1) S W (domain name)
| \
r (2) MAC address ‘ (2) % TgE (MAC address)
‘ 1 T ™ ddress
ﬂ (3) Memory address \‘ ©) (Memory address)
{ﬂ (4 URL | @ AR (URY)
b , B§eE
. PGT-CsC-2023 S 23
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57‘ Us' “
. ng join, which of e
Uery j he f : . -]
Y18 almost equiyare M8 MYSQL | 57, st 1w L Sy,
RESULT WHI MARKS rrowm STUDENT, SELECT NAME, MARKS FROM STUDEN,  yhich is2
RESULT RO ERE  STUDENT.ROLL= S eULT WHERE STUDENTROLL. g websit
~ RESULT.ROLL; by thewe
STUD AME, MARKS FROM (1) SELECT NAME, OM gy Fir
ENT JOIN RESULT; STUDENT JOIN RESULT; Cc
¥ SELECT NAME, MARKS FROM () SELECT NAME MARKS FROM (&)
STUDENT EQUI JOIN RESULT; STUDENT EQUI JOIN RESULT; @ T
(3) SELECT NAME, MARKS FROM () SELECT NAME, MARKS FROM, rich
STUDENT NATURAL JOIN RESULT; STUDENT NATURAL JOIN RESULT;,  conve:
(4) SELECT NAME, MARKS FROM (4 SELECT NAME, MARKS FROM :ref;\i
STUDENT, RESULT; STUDENT, RESULT; :
’ given
58. Identify the topology from the given options, | 58. i few g foeedl # @ 39 2rdveffstt 1 T ()
which is a hierarchical topology, in which aﬁﬁf‘lﬁﬁ@w (hierarchi?al) 2rqreirsit (3)
there are multiple branches and each branch % forgt] TRl oiE © AR 'Sﬁaif AR THA  (4)
can have one or more basic topologies and stferer e Sderstt & Hehdl :f:" IR 9% TR .
are usually connect multiple LANS. T W LAN @ Fae Bl € | . GP
(1) Bus topology @) =@ e[St (Bus topology) a
\,(2)/ Tree topology @ 9@ 2qitstt (Tree topology) U2
(3) Star topology (3) =R IS (Star topology) (;
(4) Mesh topology (4) B Adiedst (Mesh topology) '
3. 4
59. Identify the switching technique in which the | 59. S o qepelie @ Te=M Shite fEH TR aR !
message is sent in one go, but it is divided e o ST 8, Toig <9 Sre-fewdi # fanfs@
into smaller pieces, and they are sent foparn T 2, oI TR STeTT- ST AN S g |
individually. The pieces are given a unique el =l T 3BT Fa iR wew e smn T afs
number and addresses to identify their order Tl F IR | 9% FH (3MEY) 1 TEEH
at the receiving end. I T ek |
(1) Message Switching 1) S fafdT (Message Switching)
\12)/ Packet Switching ) U¥e fafem (Packet Switching)
(3)  Binary Switching (3) @ fafsn (Binary Switching)
(4) Circuit Switching (4) Wfe fafdm (Circuit Switching)
) ‘3% .E’a{
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63.

60.

61.

62.

e

[dentify the term from the given options,
which is a small file or data packet, stored by
a website on the client's computer and used
by the websites to store browsing information
of the user.

(1) Firewall

Cookies

Spyware

Trojan

)
4

Which computer hardware device used to
convert data from a digital format into a
format suitable for an analog transmission

medium ? Select the best answer out of the

given options-
Modem
Switch
Repeater
Hub

(2)
()
“)

GPRS is basically the standard-bearer of :

5G technology
3G technology
4G technology
2G technology

)

®)
“)

A school organizes an educational trip for
middle school students to the Jim Corbett
National Park. What would be the teachers’
advisory to the children during the visit ?
(1) observe everything without asking
questions about it.
(2) note down their doubts and ask the
questions after reaching back.

g)/dgserve keenly, make note and share
observations with other fellow students

and teachers.
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60. <) fam T foeedi § @ 96 UK (term) T TEEH
Fife, S T B e 91 o Y €, T T
e g1 TR 3 FEORl TR o g
iR eagel g foreR Wi ISR T St
T B R w0 ¥ o o ¥

(1) wEEE (Firewall)

(2) sl (Cookies)

3) TWRAA (Spyware)

(4) ZF (Trojan)

o e BrS A Feasd 1 WA O fefsrea
e Q el T T EiRe Hiem &
WWWﬁEﬁWﬁimmm%?
fom 7 forepdl H @ AR S H T HICL

61.

Hied (Modem)
fe= (Switch)
faditet (Repeater)
79 (Hub)

O
(2)
3)
(4)
g &9 ¥ GPRS fHadl Th A qed
(standard-bearer) g7

(1) 2551 qe® (25G technology)

(2) 3 R (3G technology)

(3)  4Sil Tl (4G technology)

(4) 2 WA (2G technology)

@mmw%mﬁ%mm
mﬁzmw%mﬁ’t&rﬁwwmm
m%lw?ﬁamaa‘i%mammﬁ

62.

63.

=1 W H | .
@) cnet i 35 e 9 A

(4) enjoy the trip along with fellow
students.

B
PGT-C5C-2023 %5&
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I

‘germinatj O teach the concept of the | 64 st & P ] ,
. on of a seed’ is to : T . 6g. Whatl
(1) provide detailed explanati ) fasd el < ‘. 2033 ¢
(2) dr . p anations ﬁﬂ aqm 3ﬂ—{ 31 auiq (1)
aw pictures on the board and give 2) CIERS W
‘}/ escriptions T SRy,
: a
( make students plant seeds and observe (3) el 1 I é\
erminati fog gl )
germination =
® ik i i 4)

(4)  show pictures of seed growth

S TR, S,
, from which class will . = ST =TT ?
o1 greeTw Tod P F 69. Ms

vocational education be introduced ?
(1) Class?7 1) &7 . ‘ N
A2 Class 8 () wE8 : ey
(3) Class9 (3) w9 | @
(4) Class 6 (4) THET6
o«
66. Which approach of learning out of the | 66 ﬁ | "ﬂfwm &1 BT T
following, engages participants in activity, fopamerend | il 1 A FL %'.
leads them to reflect on the activity critically fopaail O SRR feroqoft T 2 AR
and obtain useful insight and learning ? ¥ s sudrtt Sagfe iR T W
(1) Collaboration (1) wE
(2) Passive learning (2) fafera ™ 70.
(3) Observation (3) ST ‘
N Experiential learning (4) SRR e

67. TE-Gel e Fen SRS % i 9 0

67. Which of the following components of pre-
sTvaTeAs e & foTg SR SR 2

service teacher education program has

greater scope for experiential Jearning ?

ST fea &% " | -y 71

(1) Pedagogy courses through use of critical (1)
thinking LICBER )

(2) Foundation courses through critical (2) WSS WA AT R
expostire RIEREL

(3) Critical reading based on great thinkers’ (3) e Tl & e S STHR W STrar=l

- work AT
v@/)/ Internship through school attachment @) forme § ﬂ'é,'cﬁ'{ Eroitiefcao
ERFE
PGT-CSC-2023§’%% | 26
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6s. What s the full form of ABC as per the NEP | 68. =i faram Hiff, 2020 273dR ABC 1 30 ™
2020 ? E\‘«.,:j' F?
(1) Assessment Book of Cf_i‘egiits (1) THZ g& I® hiedd (Assessment
3 Book of Credits)
) Academic Bank of Ce’rf_tif?tates (2) 3T el d& TH 'Hﬁﬁ’ﬁn—c:ﬂ (Academic
(}fﬁ Bank of Certificates)
(3) Academic Bank of cﬁéd'iﬁj (3) wke® AF AE Ffe2 (Academic
= Bank of Credit)
4) Assessment Book of Gértificates (4) ITAGHS G HAF ﬂﬁm (Asse'ssment
Book of Certificates)

¢9. Ms. Monica wants to introduce the topic on | 69, T feht <He - 3% B O fawg @)

‘Nutrition’ to her class 3 students. She should : T S TEd § | 376 R A Ty ?

(1) use chart showing different kinds of (1) fafem geR F A 3R FF @Y ol
foods and their advantages el T S YA HEAT e

(2) give examples of different foods rich in (2) YRR 5= 7R & oA ek

trients and their advantages T T IR S =Y
\1}/::1( the students to E)pen their tiffin (3) BEIY AT TeRp sl dier, S9e

boxes, see the contents and discuss their T TG T ST N R THI & A f
advantages and dlsadﬁé'ntages 79 A F Foe e =ey

(4) draw the diagram o£1he digestive (4) VIMTE (RIHAE) TIEH 5 i Fo
system on the blackbc;ardi Mg

70. As per NEP 2020, students holistic | 70. T fan fd, 2020 % 3ER, T SgemwmE

multidimensional progress‘ “card will be I TS i Tohe HHe H 09 fea e ?
redesigned in which of the following format ?

(1) Continuous progress card (1) ¥aa Ffd F1e

(2) 360 - degree progress card (2) 360 - feilt wifa i€
(3) Comprehensive progress card (3) AYE Wl FE

(4) Tabular progress card (4) icEREs wiid 18

[‘ 71. What are the classes which cover at | 71. T foen Hifq, 2020 UIeTHA B9 & SR

i ‘Secondary’ stage aCCOl‘dlg]g to NEP 2020 ‘et H @ W wad wfir €2
| curriculum structure ? &,

| (1) “Class 9 to 12 E;_ (1) FWIR12
(2) Class6to8 ¢ 5 (2) FW6HS
1 (3) ,Class9to 10 *j’ (3) F&9H10
A 4y’ Class6t09 £ (4) FEM6HI

- .J
4

Sy

' BB o2
% _PGT-CSC-2023 ﬁgﬁ I 97
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. ICh 1

Nat;
ational Education Policy 2020 ? -
(1) ME4

(2)
(3) Ph.D.

(4-Ed.D

M.Phil.

73.  Which out of the following is considered asa

membership operator in Python ?
A in

@

3)

4) is

or

not

Which string method, out of the following
will always break the string into 3 parts in

Python ?
(1) break

74.

partition
3) mid
4) split

Out of the following expressions which one
will not find the result as X raised to the power

Y?

1)  pow(X.Y)

) power(X,Y)
(3) math.pow(X, Y)

75.

(4) X**Y

, ool
PGT-CSC-ZO%E@%

73.

74.

75.

28

GET IT ON
Google Play
s

aega FEl ? ' '
g 76. Conside
a":' 'g‘qm a-[f(‘:i \I a LiSt L
N R
! \ Which
) w@fF 1) \ content
® s () ' (60, 1
"
w = A
o , e
- ﬁmﬁ@mmﬁmﬁwm @
T ST € 2 |
77. Whic
1) in ‘ of o1
@ o M
2
(3) mot '. @)
@ s ;:3’ @
— ‘
() 8. W
s e R G b T
tore, v g 3 el 7 1 FML 4
S P
€)) break ﬁ | (
2 partition '
(3) mid
4) split
frfafag § @ S 1 TEHEE XY WA T
AT ?
q::j- 79.
(1) pow(X, Y)
(2) power(X,(\’;3
1)
(3) math.pow(X} Y)
(4)  X*xY T

( |
(N ‘
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76. Consider the following assignment for
a List L. ‘
1,= (10, 20, 30, 40, 50, 60]
Which print statement option will display the
content in the following way ?
(60, 10, 20, 30, 40, 50]
(1) print (L[—11+L[1:])
print (L{—1)+L[:len(L) —1])
(3) print (L{len(L) =11 +L[l:len(L)])
(4) print (LI-11, L{1:])
77 Which of the following is correct precedence
of operators in Python ?
1)
(2)
3)

4} Braces, not, and, or

Braces, or, and, not
not, Braces, and, or

not, Braces, or, and

78. What is the output of the following ?
import numpy as np
A=np.array([[2,3],[10,20]])
print (A+1)
m r;:s 4
[10 20]]
@/ [[3 4]
[11 21]]
[z 31
[11 21]]
@ (3 3]
. [11 20]])

(3)

79. What is the default color for Matplotlib
: plots ?

(1) Blue

(2) Green '

(3)  Black,

Red

A
| PaTcsca0 S

E
b
—

29

77.

78.

79.

GET IT ON
Google Play

76. wH Tee L% fag frfated sTEETHe W faar

HIfST |

1= (10, 20, 30, 40, 50, 60]

frtfafaa & @ B9 o fie Reiie AN fag T
SIS Y TR ?

{60, 10, 20, 30, 40, 50]

1) print (L[—1] +L[1:])

(2) print(L{—1] +L[:len(L) —11)

(3) print (L{len(L) —1) +L{1:len(L)])
(4) print(L{-11, L{1:])

e ¥ Frefafen 3 @ A F1 w8 fufady
FNT?

(1)
(2)
(3)
(4)

Braces, or, and, not
not, Braces, and, or
not, Braces, or, and

Braces, not, and, or

frefafed 1 T=eqe #= ]2
import numpy as np

A =np.array([[2,3],110,2011)

—

print (A+1)

1 13 41
[10 20]]

2 (I3 4)
(11 211]

@) (12 33
[11 211}

(4 113 3
[11 20]]

Matplotlib plots 1 fewice FHer 13 ?

(1) Blue
(2) Green
(3) Black
(4) Red

Q2
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80.

e

7

Which
module j . _
© 1S Tequired to be imported in

a Python
mod Program to use mean, med d
e methods ? , median an

(1) stats

\/@)/‘ statistics
(3) standard
(4) math

81. What will the following code result in ?

import numpy as np
A = np.array([12,23])

= np.array ([10, 20])

print (A-B)

(1) [-2 =31

(@ [[12 23]
[10 20]1

(3) [[10 20]
(12 23]]

o 23

Which of the following is false about global

variables in Python ?

82.

(1) global jmmutable variables require
global keyword inside function.
(2) global mutable variables do not require

global keyword inside function.

3y global keyword is a must for the first
time of assignment of a global variable.

(4) global variables can be accessed any
where in the program.

i, ol
PGT-CSC-2023 ﬁg’é 30

80.

81.

82.

GET IT ON
Google Play

2f i, e SRy,
@muﬂu’rﬂf“ it ey
e TR
me M‘sa,- ObserVv
missin
1) stats o
(2 statistics
(3) standard oL.sF
h 50—
@ 45-
4.0-
frefafad mmmwm? 35-
3.0
import pumpy as 0P 25
A= np.array([12, 23]) :}lg
B= np.array([lO,ZO]) 1.0
print (A-B)
1 -2 -3] @
() (11223 ' @
[10 20]] "‘ (:
@) [[10 20]
(12 2311 “.
@ (23]
wmﬁ@waﬁqm%aﬂﬁﬁmﬁv{f@a
A HF T B TE T €2
(1) e FEeed SRTETH ¥F fau Hwn
| S T (global) - a1fEd R
() e e & o e 85
sie Tl (global) F-a S¥fa 1
%
W T (global) - st B
(4) ol SRueew o A
fop < W €
0‘
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83. - Observe the following graph and find the
missing statement in the Python code.

import matplotlib.pyplot as pl

pl.show ()

5.0
4.5
4.0
3.5
3.0
25—
2.0
1.5
1.0

[ I l I | I
00 05 10 15 20 25 30

pl.bar([5, 2, 3, 11)

1)
(2) l.scatter([5, 2, 3, 1])
(Q/El.plot([s, 2, 3, 11)

(4) pl.line([5, 2, 3, 1])

The number of attributes in a relation is called

the

{ )/- Degree

)

©)
4

84.
of the relation.

Domain
Cardinality
Tuples .-

85. What is the purpose of the legend() function
in Matplotlib ?
(1) Toadd a title to a'plot
(2) .Toadd ;annoba'tion‘sl’ to a plot
( "To lab'e} different lines 'E)if.markers on a
plot "

(4) Tolabel the x and y axes of a plot

L s
PPGT-CSC-2023 ;ﬁﬁ
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83.

84.

85.

: €
®)

GET IT ON
Google Play

frfafEaa T 6l 3Ecie Hl IR TR Fis
¥ Thfdn =i i I e |
import matplotlib.pyplot as pl

pl.show ()

5.0

4.5 —
4.0 —
3.5 —
3.0
2.5
2.0
1.5 —
1.0 —

I [ [ I I [
00 05 10 15 20 25 30

(1) pl.var((5, 2, 3, 1)
(2)
(3)
4)

pl.scattex([5, 2, 3, 1])
pl-plOt([5l 2, 3, 11)
pl.line([5, 2, 3, 11)

T RORM (Relation) # SAfE=H (Attributes)
&1 de, feiem =i FHEa 7

(1) Teiit (Degree)

2) SMA (Domain)
FfeAfer! (Cardinality)
. (4) 299 (Tuples)

Matplotlib & legend () e 1 3e¥d 1 €7

(1) Toadd a title to a plot

(2) To add annotations to a plot

(3) To label different lines or markersona
plot

(4) To label the x and y axes of a plot

Q2
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89.

90.

Which command in MySQL is used to list all
(non-temporary) tables meﬁven database ?

P
(1) DESCRIBE TABLESY )
LO)

(2) DISPLAY TABLES(Y‘)

(3) VIEW TABLES ~

(N
{4) SHOW TABLES (]

Which of the following MySQL query is

syntactically correct and most preferred
one ?

(1) SELECT SECTION, COUNT(*) FROM
STUDENT .

=4
ORDER BY SECTIGN GROUP BY
SECTION WHERE MARKS<33 AND
COUNT(*>0; !

&
2R ‘
(2) SELECT SECTION?CQUNT(*,)FROM
kY
STUDENT o~

WHERE MARKS%33 HAVING

COUNT(*)>0 GROUP BY SECTION
ORDER BY SECTION;

3)/" SELECT SECTION, COUNT(*) FROM
STUDENT

WHERE MARKS<33 GROUP BY
SECTION HAVING COUNT(*)>0
ORDER BY SECTION;

(4) SELECT SECTION®COUNT(*) FROM

STUDENT ::‘Y’)

, |

GROUP BY SEer?iON WHERE
MARKS<33 ANDJ count()>0
ORDER BY SECTION:

l
l

33

90.

GET IT ON
Google Play

89, e fou st H Ol (TR-3arl) TEa 9y

THEs 0 & fag MysQL # = W w5l
AT H AR R ?

(1) DESCRIBE TABLES
(2) DISPLAY TABLES
(3) VIEW TABLES

(4) SHOW TABLES

frefafed ° @ ®19 W MySQL query

syntactically 9 ¥ Wl § iR R weifus
wefieRar < S R 2

(1) SELECT SECTION, COUNT(*) FROM
STUDENT

ORDER BY SECTION GROUP BY

SECTION WHERE MARKS<33 AND
COUNT(*>0;

(2) SELECT SECTION, COUNT(*) FROM
STUDENT

WHERE MARKS<33 HAVING

COUNT(*)>0 GROUP BY SECTION
ORDER BY SECTION;;

(3) SELECT SECTION, COUNT(*) FROM
STUDENT

WHERE MARKS<33 GROUP BY
SECTION HAVING COUNT(*>0
ORDER BY SECTION;

(4) SELECT SECTION, COUNT(*) FROM
STUDENT

GROUP BY SECTION WHERE
MARKS<33 AND COUNT(*)>0
ORDER BY SECTION;

Q2
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TUDEN ‘ NAME from the table
’ Wthh are h : :
Characters and . aving maximum five
‘A’ 9 Startlng with the alphabet
1
@) i\}lzLECT NAME FROM STUDENT
HERE NAME LIKE'A_ __
2 JEE—
(2) SELECT NAME FROM STUDENT
WHERE NAME = 'A___ '
(3) SELECT NAME FROM STUDENT

WHERE NAME = 'A%%%%";

SELECT NAME FROM STUDENT
WHERE NAME LIKE 'A% %% %';

92. Identify the output value (ignoring the output
header) of the MySQL query.

SELECT 6 MOD 20;

P 3
e

(3) 20

4 2

Which of the following will not run the loop
statement an infinite number of times in

Pythen ?
while 21%2:

print ("ALWAYS")

93.

while 21//2:
b ‘print("ALWAYS" )

2

(3) while True:
print ("ALWAYS")

(4) ‘while 1%1:

print ("ALWAYS")

- ERE
7.+ PGT-CSC-2023 ggﬁ 34

91.

92.

93.

GET IT ON
Google Play

Freferfea & @ [PF MySQL g
STUDENT ¥ 37;{\%9? NAME q;:“}g

a7 .\ o4
SELECT NAME FROM sy,
WHERE NAME LIKE'A__ _
SELECT NAME FROM STUS\

WHERE NAME ='A___ 1,
SELECT NAME FROM STUE\ o

 WHERE NAME = 'A%%%%;
SELECT NAME FROM STUp,
WHERE NAME LIKE 'A%%%%,

(1)

(2)

(3)

4)

MySQL query" 1 FMEYE g, (TR
1 TGS B ) I TEEH SIS

By, 3
SELECT 6 MOD 20;

. . ;
@ 6 57
B . AR e
i (3) 20 w::-“:{f
e
4) 2 P,

e

ﬁmﬁf@ﬁmmmﬁﬁ?m@@
ST 9K A& =T ?

while 21%2:

1) |
print ("ALWAYS")
while 21//2:
I‘
4
priqgt‘;“(-vALWAys ")
Nl
while True 3

(2)

(3)

print(TALWAYS")
iy

£

¢
(4) while 1%1.

1t
print (JALWAYS")
"l«;kd

,

I
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94, Which of the following is an invalid method/
function in a Python dictionary ?

(1), popitem()
remove ()
() get()
(4) pop0)
95. For the following Python statement
Msg=('Good Day"')

What shall be the data type of Msg ?
(1)
(2)

(3) Error in statement
Y/ sing

For the following Python statement

tuple
list

96.
Txt=list ('"PEACE")
What shall be the output of print(Txt) ?

\(l)/[lpl, IEI’ lAlr ICII 'E']

[PI EI AI CI E]

Error in statement

(3)
@)

['PEACE']

97. Select the correct output for the following

Python code. L2
for T in'range(6, 1, -2):

T

print (end='*$$")
(1) *s$%ss
(2) *$s *g5 x5
M$$*$$*$$

(4) *$5+ss

e —

jiy sivreas

B o8
\ PGT-CSC-2023 , 35

I

94.

95.

96.

97.

GET IT ON
Google Play

T feaer § 30 § S | HYS/GRA 9y
TR?

(1) §opite{n ()

(2) remove()

() get(

(4) pop()

Frfefan T Rede =t 39
Msg=('Good Day")

Msg <1 €[l 254 41 & ?

(1) tuple

(2) list

(3) Error in statement

(4) string

frefafed waeH wede 3 39 ¢
Txt=list ('PEACE’)

print(Txt) S SIS T BT 2

(1) ['p', 'E', 'A', 'c'; "B
() [P, E, A, C, E]

(3)  Error in statement

(4) ['PEACE')

frrifeifn e wie ot e emeege W)

for I in range(6, 1, -2):

print (end='*$$")

(1)  *ss*$$

(2) *$s *$$ *$$
(3) *$$*$s¥ss
(4)  *$$ *ss

Q2
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98. Which of
’fhe fouowi . . .
Python 2 ng options 15 true in

Execution/Runtime error
handled using try . - - €XCeP*

1
( g can be

No errors can be handled using

(2)
try.. .except

g can be handled using

Logical error
try...except

3)

(4) Syntax errors can be handled using

try.- .except

moduleis reqtﬁred

pythont ?

Which outof the following
pinary file in

99'
to be used to create @

(1) bin
N pickle
3 binfile
@) Binary -

Consi
answer the question given below :
wNOTES . TXT "/ ny

100.

with open (
Line=F. readlines ()
_ # gtatement 1
Which of the following Python state
will find and display the aumber of lines

present in the file 'NOTES.TXT" ?

ments

(1) print(len (LINE))

v

3)

print (LINE. count ()

print (LINE.count (* \n'))

) pr'int‘(LINE .len())

: B
'PGT-CSC-2023 ﬁﬁ% .
6

99.

100.

Google Play

, Fehed TATT Y
a1 i Ty
on/Runtime Errors
@ fﬁfw pt BT
& ol
. ,except N maﬂk
@ gwaﬁfmwm%,
. ﬁ £ry- - - €¥ce
o LB o T ! "
H try-- .exce
@ T E;;Iamaﬁ?ﬂ y
e ¥ & < 1 S
i W%:)
@) pin
2) pickle
3) pinfile
w B
preafafad T e T fa=R ¥ S
TFEFIWEBT?ER?. 3

with opeéen ("NOTES.TXT“, nym) as i
Line=F. readlines ()

# statement !

__-’______,._———-—""""
'ﬁﬁﬁrﬁéﬁmmézﬁ?ﬁﬁwaﬁé?
a@ﬁd@m‘

(1) print (len (LINE))
(2) print (LINE. count ()
(3) print (LINE. count ('\n'))

(4) print(LINE.len())
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101. What is the output of the following ? 101. fr=fafEs e w1 oMRegE Fad |
import pandas as pd import pandas as pd
Sl = pd.Series([100,200,300]) 81 = pd.Series ([100,200,300])
print (S1) print (S1)
1 1 100 1) 1 100
2 200 2 200
3 300 3 300
dtype: int64 dtype: int64
(2 o 100 @ o 100
1 200 1 200
2 300 2 300
dtype:  float64 dtype:  floaté4
@) 1 100 . B 1 100
2 200 2 200
3 300 Y 3 300
dtype: float 64 ’ dtype: float64
(&l//ﬁ; 100 @ o 100
1 200 | T 200
2 300 2 300
dtype: int64 dtype: int64
102. A dictionary is declared as 102, TF el 56 TR 3 fegeds € :
: D = {10:"A",25:"B",32:"C",54:"D"} D= {10:"A",25:"B",32:"C",54:"D"}
% """ Which of the following is incorrect ? ﬁqﬁf@aﬁﬁﬁ—rﬁrma@wﬁ%?
E' (1) D[20]="E" (1) D[20]="E"
(2) D[301+=20 (2) D[30]+=20
(3) D[32]+="*" (3) D[32]+="*"
| D['X']=100 (4) D['X'1=100

. B
| PGT-CSC-2023 fﬁ{ﬁ 37 a2
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103. Whj
ich of the followmg is the correct syntax

‘;;r{panda s dataframe ?
pandas.DataFrame (data, index, col,

dtype, cpy)

\@/ pandas.DataFrame (data, index, row
dtype, cpy)

(3) pandas.dataFrame (data, index:
dtype, cpy)

(4) pandas.DataFrame (data, index,

dtype, cpy)

104. What will the following code result in ?

import pandas as pd

pd.Series ([10,20], index=['A','B','C'])
(1) ValueError

(2)  NameError

3y IndexError

(4) SyntaxError

105. Given the following assignment of a variable
.s=[1,9,2,8,3,7, 5,4]
What will be the output of the following ?
U2 2 S

print (LS[: :2]+LS[::-2])

(1) 15, 3,2, 1, 9 8 7
(y)/zl, 2, 3,5, 4, 7/ 8
(3) 14, 7,8 9 L 2/ 3
@ 19, 8 7,4, 5/ 3 %

4]
9]
5]
1]

106. Which method out of the following is used to
write a line of content in a C‘SV file in a

Python program ?
(1)
)
@

4
B
PGT-CSC-2023 éﬁ%

writer
writerow
write

writeline

«<}

GET IT ON
Google Play

(Da'c:cxframe)§$
das) ESral
103, wigl (Pano aaqua%'q'“ta frmv o, Omerve 4
nda Datagrame(da ¢, indey, N output
o ® cpY)
dtyz:; pataFramne (data, index, , €
pan ‘
(2) dtype’ cpy) _— ] A
ndas - dataFrame( aca, lnd&;_ S
@ Pano
, cpY)
dty'pde N taFrame (data, ]_ndek
(4) pan a . 4
dtype’ pr) 1
? I\
Eﬁgmqﬁuﬁqﬂ'@"“ [] ‘:
104. :
das as Pd |
lmport pan —['A', B,
pd-Series([lorZO]' index=L’ L
1) ValueError \9)(
) NameError 2
@) IndexError ®)
(4) 5yntaxError @
fope T ©
105. 3 T AR AR 108, W
Ls=[1,9,2,8,3l715'4] T
e o W At Fre H IECE R ,
- m?
print (LS[:: 2]+LS[::-2])
(1) (5, 3, 2, 1, 90 & 7, 41
(2 [1, 2, 3, 5/ 4 7, 8, 9]
3 4, 1, 8, 9, 1, 2, 3, 51
4) (9, 8 7, 4, 5, 3: 24 1]
- 10

106. T YA T ¥ CSV RS H TH A R
s forEy ¥ fau frafafas § QS @ AR

TART H A ST ?
(1) writer

(2) writerow
(3) write

(4) writeline

38
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107. " Observe the following flowchart and find the

output. .
tp =t
(START) [,
7w

A=100 | I{)

S5S=0 Q:”“f*}

OUTPUT
s

As=m (S = ’DD
\9)/180 A =060
: 60
@ 120 g’ﬂ’loqo
i A~
3) 100 e 2 189
4) 160 IS8

0
108. Which of the following method is used to
move the file pom’tef ’to read the content from

a specific positionina text fileinsidea Python
program ? ’1\ f

(1) move
(2) tell
(3) .find

A seek

109. Which out of the following mode is required

to be used while opening a binary file to allow |-

read as well as wnte operations in a Python

program ? [a,\,
(1) ab Ny
@ wb Ly
@) 4. ()

Mbs« z‘“

(|
, B
1 PGT—CSC-2023 &?? N 39

GET IT ON
Google Play

107. Frafafan wieE #1 adieT F R IqH . -

3MSTYE T |
('START )

A=100

OUTPUT
S
Y
(" stop )
Y
A= =40
(1) 180
(2 120
(3) 100
(4) 160

108, Th AL WIH ¥ Tk oL 15T (Text File) ¥ -

AR T (read) F ¥ Tt Tl fodiw Difvem
H TEd WX B @ 9N & O P9 w dug
T § AT S ?

(1) move

109. T SR S & U AT B (Binary File)

dien w9 Frefafen 3 ¥ SR W w9 e

@wawﬁmmmﬁaﬁ%m
TR ©?

(1) ab
(2) wb
@) r+

(4) 1b+

Q2
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110. Which method outof the following will allow
the read operation from a Binary file in a

Python program ?
(1)
2)
&)

@/ load

read
input

accept

111. Which is the Linux ?
JX)/ Open-source Operating System

(2) Open-source Application Software

)] Windows based Application Software

(4) Proprietary Operating Systemt

tis an interpreter ?

that convert
gh-level Janguage

112. Wha
¢ machiné

1) A program
language t0 hi
m that converts whole of a

A progra
ode into machine language

program ¢
in one step

(2

m that converts a program into

3y Aprog
¢ code line by line as the

machin
program is run

(4) A program that writes instructions t0

perform

| 2 égdf
PGT-CSC-2023 Bl
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112. 3€T§TET (Interpreter

@ NIM <t wei
)l Feg-Tad (high-level

(1

dource App
N

S

bas:ad;f-APP
‘f?’f Pl faqen (Proprietary

Opéj:’aang

Janguage
language)

@‘u‘m’mah

Google Play

@a@'ﬁ (Binary file)
e A a1 A8 T A

gfeaR (Windows |

lication Software)

System)

Sl
ayre (machine

3 e €
g T S (prograr

code) ] TH T 1 AT AT (machine

Janguage)

3wl ¢

wzﬁmww«am
aﬁﬁ'ﬁéﬂn&ﬂ?mﬁm%l

oy
@ (I

(instryctio

s ard-frrme 3 S
ferad €

n)

Q2
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[dentify the Boolean Gate, which represents
| 11 . the fouowi‘[\g truth table .

A B |Output|
0 0 1
0 1 1
1 0 1
1 1 0

(1) XOR

(2) NOR

3)/ NAND
(4) OR

114. If ® represents XOR Gate in Boolean algebra
and A ® B = C, then B ® C equals to :

AR o
1 1 o O Q)
@A O \ \
B A | \
4 0

115. Identify the Boolean expression from the

given options, which is equivalent to the Logic
Circuit Diagram.

D

MA.,.¥B')-C' +D

(2) AB'+C'D

(3) A+B-C'+D

@) (AB+C)D
EE
per-c‘sc‘-édzaégﬁ

GET IT ON
Google Play

113. 39 &itg 71T (Boolean Gate) T wEEH W,

i Frfafed e WRoW (truth table) T FEE

FA Y :
A | B [Ouwpw|
o | o | 1 |
o | 1 1 1 |
1 | o | 1 |
1 {1 [ o |

(1) XOR

(2) NOR

(3) NAND

(4) OR

114, afg T ASEIOR (Boolean Algebra) q o,
XOR 11z %1 Frefia F ¢ SR A®@B = C,q

B ® C foruh SR ®72
o @ 1
o @ A
y @ A
| @ 0

115. TRu g fowedi § ¥ 39 i@ =SS (Boolean
expression) il T&E=M ESIS IRCHEE I C o
TEIH (Logic Circuit Diagram) % T & :

41

A

B

c

D

1) (A+B)C+D
2) AB+CD
- (3) A+B-C'+D
4) (AB+C)D

Q2
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116. Which of th
the followi ’
y'? | owing memory is non- | 116. Wﬁ_gﬁﬁﬁﬁﬁ WWH@%?
ROM
(2) Cache 1 W (ROM)
Cach
(3) ROM and Cache g; :Zl ( a;;)(R &g Cache)
4) RA
¥ M 4 (RAM)
11'7. ’ 'tl'hg Boolegn expression (A-B)' is equivalent 117. q\?ﬁqm (Boole expreSSwn) A )
o
' g 87
(1) A'B' (l) A'.BI
(2 A+PB @ A+B
3;
'+B' A'+B
A+B..%N\Q‘ q;}, @
91 . , b
d mal num er)
118. Decimal equivalent of the hexadecimal 118. ﬁﬂmmﬁ we (Hex e Decimal
ADD)1s ! e
aumber (ADD)gg 15 ¢ 16
A > > equivalent) g
1) 2871 ° ° - ) 2871
g Aoro W 1191 g a7
2) 217 YN
(3) /2187 [-o'\/o/\\g/l | o) @) 2187
e ar 6 22! 6L @ 2781
2781 g Y
o e A ggg/
S Al N -2 : e i
119. Intellectual Property Rights (IP ) protect thL I}Q%ﬁﬁj;ﬂg:ﬁa_{;' amaﬁ (%PR) g iamalfl t
use of informaﬁon and ideas that are of : ‘Va; , foeept ___———
DEo\’\\{g g/‘;%/i
1) .Traditional value h %;% 1) R T (Tl‘iilditional value}
) Historical value’ -~ G\ [0 9@/(2) GRISEIR S (Historical value)
'S ) ) aiforfeaes AT (Commercial value)

Commardal value 2

)

120. Octal equivalent of the Binary-nt

(10‘ )2 15-
A 26
@ 52

.&6‘ |
ol

Ethical value ‘4) /O\(IL)‘ e ed (Ethical value)
4 _

fy-anyrt WEA (Binary number)
s gAged (Octal equivalent) g
(1) 26 ‘
(2) 52

3) 62

120.

@) 62
4 16

PGT-CSC-2023 ﬁaﬁ '
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(4) 16

(10110), T
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|

. TR decimal I?Pfesentafion for the character | 121, ASCII % TR ‘2’ (lower A) ¥ fag <TH
s g’ (lower A) in ASCI is Frqm (decimal representaﬁon) %

oy %0 (1) 90
@ 97 @ 97
@ 122 @) 122
@ 6° ‘ (4) 65

2. In Boolean algebra, A«(A+B) is logically ‘\ 122. g SSMEE (Boolean algebra) H Ac(A +B)
equivalent to: . \ Aifehes =4 Y s Toage (logically equivalent)
®?
1y B A XA \‘ 1) B
2 AB 2) AB
3 A+B (3) A+B

\
ﬁ/A | \i\ @ A
\

123. Binary equivalent of the decimal number | 123. <IWTE F& (Decimal number) (11)19 1

(11)4g is : ‘ \ \ fg-enul (Binary) ¥HETA (equivalent) T
1) 1101 2 | \\ (1) 1101
(2) 1001 (2) 1001
@ 1111 . “ @) 1111
‘@/1011 : DAY 1 (4 1011
!

124. What is the updated ve‘arsim\ of tl}e IT Act, | 124. aTE <1 afufras, 2000 (IT Act, 2000) F TEaH
2000 galled ? | HEHE T T HE T € ?
IT Act, 2008 | @) ot & sfufEs, 2008 (T Act, 2008)
(2) Advanced IT Act, 2000 \ (2) TEaiEs g & SfufTEE, 2000 (Advanced
| TT Act, 2000)
(3) Advanced IT Act, 2007 | (3) TEaiEE o1 & sfulEm, 2007 (Advanced
| IT Act, 2007) |
\\ (4) o & fufwEm, 2007 (T Act, 2007)

(4) IT Act, 2007

125. What minimum and maximum values will ‘ 125, Frfafas THE = | A A Afewan
be generated for the following Python | g T LN
statement ? \
print (random. randrange (100) +1) \ print (random.randrange (100) +1)
(1) 1 and 100 \ (1) 1 ¥AW 100
2" 0 and 100 \ (2) 0 WA 100
(3) 1 and 99 \ @) 1 WM 99
(4) 0 and 99 \ (4) 0 T 99

BB
PGT-CSC-2023 g?@ 43 C


https://www.adda247.com/
https://applink.adda247.com/d/XhqWf9lSap

Adda

e

126. Which of the following cannot be used as a

\Z]a/;ydenﬁﬁer in Python ?
: 1stName

(2) Namel

3) Name_1

(4) FirstName

127. Which of the following Function Headers in

\;?Pﬂ'ton code will result in error ?
def Compu (X=100, y=10, 2):
(2) def Compu (X, Yr 7=1):

(3) def Compt (x=100, Y=10 z=1):
(4) det compu (X, ¥=10s z=1):

128. Considering the following dictionary *
Num = {10:'Ten', lOO:'Hundred',

10:'Decimal'}

\;?At shall be the output 0
)

{10:'Ten', 100:"
10:'Decimal'}

(2) {10:'Ten‘, 100:

(3)

©

fprint(Num)?
gundred's

’Hundred'}
{10:'Decimal', 100:’Hundred'}
Erroxr

which is an unauth
n or monitoring of

129. Identify the termy,
two entities

real-time interceptio

private communication

ovey a network.
Eavesdropping

(2) Phishing

(3) Snooping

(4) Cyberstalking

petween

130. IdenﬁfymeLogical Operator used in Python

V? of the following.
) and
(@ i

130.

(3) <=
W +=

, o]
PGT-CSC-2023 ﬁgfé 44

127.

128.

129.
g @ GEa-TRA

Google Play

{10:
10: 1pecimal '}

100: ’Hundred' }

_ {10:'Ten'r
100:'Hundred'}

{10:‘Decimal',

« Brror
|

aﬂﬂ’q‘(term)ﬁﬂ'{aﬁ
2 e & o

(1 35‘15”{1"! (Eaves;dropping)

) fERi (Phishing)

3) T (Snooping)

(4) R (Cyberstalking)
n)ﬁgg‘eﬁaﬁw

frepferfioa & 9 e (Pytho

i A TET F
(1) and

Q2


https://www.adda247.com/
https://applink.adda247.com/d/XhqWf9lSap

Addai24

GET IT ON
Google Play

PART - VI

GENERAL
131. Choose the option in which the following

sentence has been changed into passive voice
His attitude vexes.me sometimes

q{' I am vexed by his attitude sometimes.

(2) Tam vexed?qft’his attitude.
(3) ITam sometimes vexed at his attitude.
4) Tam vexed-by, his attitude.
132. Fillin the blank m"the following sentence with
the help of given options.
The train was about to leave the station when
we there.
V,{’{) would reach
(2) reached
(3) have reached

(4) had reached

Directions for questi;milumber 133 to 135 :
Fill in the blank in eaclrof the following sentences with
the help of given options.

133. Nitin as well asglixs-’;friend Ramesh
coming to the party.

(1) are py
(2) were W
A5 have been- =
@ |

134, Today, the need of common man
just bread and butter. I

(1) are
(2) was
(3) were

W s

135, Mys, Kanwal 15 Principal of this

school.
(1) an
L«m the 4
(3) no article (!
4) a ' wl

37

ENGLISH

136. Choose the option in which the following
words/ phrases have been rearranged to form
a correct sentence,

(A) people gave ./

(B) President .

(C) him support .~

(D) him - v

(E) having elected
1) (B), (D), (©), (E). (A)
2)  (©), (B), (A), (D), (E) >
(3) (E), (D). (B), (A). (O)

P (A ®) E) D
Directions for question number 137 and 138 :
Fill in the blanks in the following sentences with the
help of options that follow each of them.

137. The witness will what [ have said.

(1) bear up
(2) bear out
\}3’)‘ bear with
(4) bear on
138. Can you tell me how the accident ?

(1) came about

(2) came up

(3) came by

J}H came down

139. The troops were ordered to mobilise .
Choose the word which is nearly opposite in

meaning to the underlined word.

(1) dismiss

(2) convene
3T line up

(4) retreat

140. He delivered the speech with great a plomb

Which of the following words can correctly
replace the underlined word in the above

—— P—
sentence ?

A1) confidence
(2) apprehension
(3)  disquiet
(4) diffidence

Q2
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PART - VI
: GENERAL HINDI
?H@Hﬂﬁma%ﬁwﬁﬁ%m: | 145, Frefafen § gaf @ TAEED T E
% wel nggg TS T IR SR (1y g
: 2)  AVELT
& sty o S S S | g
mamsﬁmm-ﬁw%agwﬁm (4) SeH L
o T Wm?ﬁwmmmm% 146. Freferfaa fastmmefi wr=-
Fatfat =t & TR F 1 o e ¢ (1) wd-fomre ./
%m?mi”mm DTS oA S e 2 wEgfs
W:@!@m% mﬁﬁmmn&amaﬁ; 5 qE-ET
l -
141. fog @ W 2
. T HIUM Y SR & .
(1) Trawdmars _a_ﬁ'mﬂ'qm !147. frfafea 9 9 g5 w9™ amen = =i @
(2) EEREME (1) <EER
(3) HifasR =& B ¥ (2) TS
A FER iR Vg W
142, T%a qftmer . _!;:'--
g T Ted WS I W T 148. Frfen ﬁﬁﬂmﬂ@ﬁaﬂsm%
wirf i i S
(2) T sryvEl = g W=
(3) TS erpyfaal Wl
@) e § st =) \W ST
143, T T o T o o e e 2 149ﬁ@ﬁWaWW%;
(1) == 2J Froha
M) T e e | (2) NESE
(3) wHi % 24; ﬂ% Ea[?“‘__L
(4) A5G 54} ;
144. 'T9R H UF 9R Y@ G4 aen’ F fou us | 150. (iwmgw;%ﬁwmmmﬁ%
(1) ifer (2) gt
) e (®)  Tose T e
\M ~00o0-
opal0)
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